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�1 9.6�*�ل ): 9 (�*�لH� 346 
 	A�ت �� �NO7س، ا5	�7[ وا g 15ر���� آ	�	�� 

4b5 آ>�س� ��	�	3 آkgش � $>&ول ;�� c�R$ �A�N� . 
 �NOAا� ]NHا������(اذا ارت =� (�� ���h=0.1 m، 

 :أوج& �� ی��
 .	A�ار ا������ دا���5س�N ا�4bR ��ر ا��� O7س) أ(
 .��� ا������ �G7 ا�O&ا��� $���NOAس) ب(
 

�?، : ا��1	���� J�Z �&ی>� 
 .)�G7 و$N& (نYGO �7ن�ن �JH ا�@�5: ا�	�aدم -   

�? " ا������+ا��NOA"ارت�Hع  -   A ;ا� B :�7�Oا� JH� YGOن. 
 
v��� �$" ا��NOA وا������"$N& ا�	�aدم، ت	1�ك ) أ( ��� نYGO �7ن�ن �JH ا��7�O � و�>�& هF" ا�′

 �� �� �ن��d ا�>�qم �J��1(ا�� ( ?�	OA<ا� ?���Aرن� $��$ rوذ�A و B: 
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)         :ا�@�5��� ا������ �G7 ا�	�aدم، نYGO �7ن�ن �JH س sی��د )ب( ) ( )
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0.4kg$ �<� .$N& ا�	�aدم ��Gش�ة) ′�NO7 ���) 2v ا�4bRس( أ (�4 أ�.m/s 200��� � و5�ج[ 
�A&ار ا��7�O ا���AHدة �� هFا ا�	�aدم) ب( . 

�>�س� رسار: ا��1 �� .�G ی�
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                      ( ) ( )
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��:(x)��� ان�Kuط ا�@نG�ك ��) ب( �� �ن� )ا�� �ن �? آ	�	�? وزنG�ك( ��>�qم  ن�&ه� �? �7ن�ن �JH ا��7�O ا�
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=
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�� دا\�� �v ،�Hن ��آ	 ه�ا�>�ج�� �? ا���ذ$�� اZرAأ� ���. 

��ون�� �� ا�@نG�ك  =
�4G انN$ ($� �j�Ku& ا�	�aدم(آ�� ان �&ی>� �7�j و�  ��� x   : 2

2

1
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       Two-Dimensional Collisionsا
��5دم �' "�>�=  •

 
�� إذا ت�aدم ج cR$ 1�آ�ن	ن ی���� وا�&، �wن��� $N& ا�	�aدم �A	 

��ان $��1�آ� $>�Hی) أ (    	X "ت��Zوا�&( ا &N$ ��(ا� ��*�Zا �� �<q�Z �� .�$�A أ�I"�، آ
�� زاوی� نأو ی	1�آ�) ب (   �<�$ ?�H�	R� ?� :، آ�� ی�
W ا�b � ا�	���)اي �� $N&ی?( �� ات��ه
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

�7 YGOن ;	� JH� دي، ن��1ا�@�5ن�ن��Nوا� �A�Zا ?��? آ� �? �� اZت��ه�N$ 1p& ا�	�aدم  ا�@5
r
2p و′

r
 ا�; ′

� bا� W
��، آ�� ی���	Gآ�� . JH� �7ن�ن YGOا�@�5ث� ن?� : ��; اZت��ه
 

•  �A�Zدم ا�a	ا� c5 "ت���$)x(  :          ( ) ( )
afterxbeforex pp ∑∑ = 

                    =+ 21 pp αcosp1
′ ϕcosp2

′+   

 

              =+ 2211 vmvm αcosvm 11
′ ( )122 ....cosvm ϕ′+  

 

��دي ��; c5 ا�	�aدم  •Nت��" ا�Zا)y(:  ( ) ( )
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             αsinp10 ′= ϕsinp2
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 ?��s �Nی��د ا����Oب �� �) 2(و ) 1(��دة ن1	�ج �� ا���Nد�	����*�� ا�	��Zا �� �� . أدن�"<�� ��، آ
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�*�ل )12 :(��kg.mm ا� 	�� X نHت	�aدم آ�ت�ن �� 1021 ==� bا� W
�آ>� واvو�; س ا�*�ن�� 	�� ا�. ، آ�� ی�

m/s 11���  �ت	1�ك ن�1ه� $ =v �� دم�a	ا� &N$ �	ث� ت1�آ ��&ی?��N	�، أوج&  o60=ϕإذا آ�ن[ . �ری? 
 .��� آ� آ�ة $N& ا�	�aدمس
 

 o30=αو  o60=ϕ	<	D أن �ن: ا��1
 

�A�Zت��" اZا (x): 

 
           ( ) ( )

afterxbeforex pp ∑∑ = 

 
       =+ 21 pp αcosp1

′ ϕcosp2
′+  

                =+ 011vm 3011 cosvm ′ 6022 cosvm ′+  

                 =1 ( )231 /v′ ( )212 /v′+  

 

      ( )123 21 ......vv =′+′  

 

��ديNت��" ا�Z) اy(:   

                                   ϕsinp2
′−αcosp10 ′= 

            300 11 sinvm ′= 6022 sinvm ′−  
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              ( )23 21 ..................vv ′=′  

 

�? ����a1ل ��; ا�	��1v′  2وv′ ، ?���Nد�� �� ا�) 2(��ض ا���Nد�� : )2(و ) 1(ن�1 ا���Nد�	)1( 

              ( ) 233 22 =′+′ vv      ⇒=′⇒ 24 2v           s/m/v 212 =′  

 
 ، ن�a1 ��; )2(و$	�Nیz هF" ا�>	��� �� ا���Nد�� 
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�1 9.9�*�ل ): 13(�*�ل H� 452 )بإ7�أ ن} ا��	ا�  ?��*�ل .( 
 

��ن وت�	Ya ا� ��k دم�a	رت�ن $�ه>� ا���G���uN. 
��رت�? $�O� ����&Nم ا�س4 �A&ار وات��" �ا� ����   .ت�aد

J�Z :$ 1�آ�ن	دم ت�a	ا� &N$� وا�&ة ���v′ ، 
21(  وآ	�� وا�&ة        mm +.( 
 

 :; آ� �? اZت��ه�? ��ا�@JH� YGj�5 : ا��1
 

�A�Zت��" اZا  :( ) ( )
afterxbeforex pp ∑∑ = 

                =1p αcosp′  

                ( )2111 mmvm += αcosv′  

     ( )( ) ( )25001500251500 += αcosv′  

 

          ( )13759 ........cosv =′ α  

 
��دي Nت��" ا�Zا)y(: ( ) ( )

afterybeforey pp ∑∑ = 

                  αsinpp ′=2  

     ( )2122 mmvm += αsinv′  

     ( )( ) ( )4000202500 = αsinv′  

 

             ( )2512 .........sinv =′ α  

 

��N) 2(و ) 1(�? �� ا���Nد�	�? ) αأي ا�@اوی� (وات��ه�� ) ′v(��� � ا�ن�&، اZن : 

 

3759512              ):1(��; ا���Nد�� ) 2(� ا���Nد�� � أ7 ./.tan =α  

  o153.=⇒ α  

 

�A&ار ا� ��� ? اZن إی��ده� �أ��? ا���Nد�� ��� � I*� ،?� ):$)2	�Nیz ا�@اوی� �� اي �? ا���Nد�	
 

 ( )153512 .sin/.v =′  

               615.= s/m  
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